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Q) What is the derivative of tan‘l[ L+x _1] with respect
X
totan~! x?
—— 1
@ 0 o) 3 Fon -/ (’Z{an@D _ (fn
c 1 (d) x 9~ 3
¥ = fanp —> 6= Tan~lx L& ) L
S de of
Vit fu'o -1~ fus —
Fan 9 ’ICM)O
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V1+x* -1

Q) What is the derivative of tan ! [ ] with respect

X
totan™! x?
@ 0 ®
© 1 (d) x

Ans: (b)
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EEEEE

Q) DIRECTIONS (Qs. 65-67) : For the next two (02) items that
follow :

Consider the curve x =a (cos 0+ 0 sin 0) and y = a (sin 0 — 0 cos 0).

Wht'@ 1to?
atis - - equal o :

(@) tan O (b) cot©
(¢) sin20 (d) cos 20
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Q) DIRECTIONS (Qs. 65-67) : For the next two (02) items that
follow :

Consider the curve x =a (cos 0+ 0 sin 0) and y = a (sin 0 — 0 cos 0).

. dy
What 1s — equal to ?

dx
(@) tan O (b) cot©
(¢) sin20 (d) cos 20

Ans: (a)
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2

Q) What is % equal to ?
x
(a) sec® 0O (b) — cosec? 0
3
(©) se:e 0 (d) None of these
4 - d ,
ﬁi— oz (ﬂf‘) I (’fam}) /“/7 ( Charn m/e,)
- A () x B fec’s 5§ —
d dr (_2{’_‘..)
d¢

3
- Gty x L — = (fec ﬁ)
(A0-o80 ae
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d2
Q) What is d_g equal to ?
x
(a) sec’ O (b) — cosec? 0
sec’ 0
(¢) 5 (d) None of these
a

Ans: (c)
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Q) The derivative of sec® x with respect to tan? x is

@ 1 (b) 2
(©) Zsecxtanx (d) 2sec?xtanx

> du o
i = Jec v y ¢
V = 7‘07)22_',_

dy

d g dsa(eater) .
dv — —

( _g’_n_/_j 3 %an%( fe,c‘%)
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Q) The derivative of sec® x with respect to tan? x is

(@ |1 (b) 2

(¢) 2secxtanx (d) 2sec?xtanx

Ans: (a)
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d
Q) If y= {n (e™ + ™), then what is i at x=0equal to?

@ -1 (b) 0
© 1 d 2

EXAMS
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Q) If y=(n (e™ + &™), then what is

@ -1 (b) O
© 1 d 2

Ans: (b)

dx

at x=0equal to ?
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Q) If y=sec (tan™ ' x), then Zy at x=11s equal to
%
— by — 1 d) 2
(a) \/ﬁ ( ) - () (d) V2

| A a=,
W Tan-ly = 0 | d( - (fec’/ (M) x
l// X Eﬁiz __/_____.
A0 Tang =~ 2 ic V i+t dx [0
J
fans = (1 L (ot ) g
gz F T Vi

feco = ‘//“i . \
: i+ o

———
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dy

Q) If y=sec (tan™ ' x), then P at x=11s equal to
X
1 I
_ b} — 1 d) +v2
(a) 5 (b) > () (d) V2

Ans: (a)
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Q) What is the derivative of d =/
(log,,, . cot x) (log., . tan X) ! at x = %‘? _d&‘ :D /
(@) -1 (b) 0 yJ—

! a9 =
() (d) >
_ log ofr % [ B

a—

f
_7%-1 —\

([ logoft " - - = famx fani
N7 G T .

f
éoﬁa fanx ZGOchfx fanx LQOQ( / by - logh g - lyfanx
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Q) What is the derivative of

(log,, « cot X) (log_,  tan X)) latx=

(@) -1 (b) 0
1 g =
(©) (d) >

Ans: (b)

T
_‘?
4

EXAMS
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QIf f1)=1 f@1)=3 then the derivative of
FF(f @)+ (f(x)* at x=11s ‘
(a) 12 \ (b) 9 © 15 (d) 33

1), f(ﬂz ) Am) ¢ f) = 4
E) . A0 £0) + af O£ ——*aa‘x«/)

3 X3 Ad + A3

e @)
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Q) If f)=1, f(1)=3, then
F(F(f(x) + (F(x)? at x =1 1is
(a) 12 (b) 9 (c) 15

Ans: (d)

the

derivative

(d) 33

of
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2 351
Q) What is the derivative of cos™! e i
- J13
@ — 0 ——t g lgr42
l=x"° 1-x°
&
() 0 (d) 1 (>

Q
deogx + 3501 :(__:‘Z___)fo 3 Sma f- s e,af(l—N)

V432 ey F15 |

= wfe (o1 F dneSint =0 /

(_’-f(‘)
05 (-4 W 2 S (o_vy) = (oS [v_ dy _
:wcA\J fW @9 ’3{"————/
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EXAMS

. . o 5 2¢os X +3sInx
Q) What is the derivative of cos™! [ ) ?

Vi3

1 1
(b) -

(a)

] —x”

c) 0 (d) 1

Ans: (d)
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Q) If f(x) = cot™ [x —2:x:_ J,then f’(1)1s equal to

(a) -1 (b) 1

(c) log2 () —log 2 3 Tan0

o?x-'x [ — 7(0”9’9

EEEEE

; -— S —

— 2
7!/1) - fan”/( 14 -xj\? Zx(/" 9(—276 [ — (Z_Z) = fanl@
X — X

Fane. = ,’c’x//%”‘;/7 82%)

7[(1)-“— Ton (797)29): 20 éaaffaw - (1) &ix,
Ix) - do) _ 4, /- 2
1 02(5%),4;((2&) £ (-1 - o) &

2__/// (ogadX)
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X —x

Q) If f(x) = cot™ [

(a) -1
(¢) log?2

Ans: (a)

2

J,then f’(1)1s equal to

(b) 1
(d) — log 2
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Q) What 1s the derivative of  (X) = x| x| ?

@ [|x|+x (b) X
© 2[x] d) -2|x]
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Q) What 1s the derivative of  (X) = x| x| ?

@ [x[*+x b) X
© 2|x d) -2]x|

Ans: (c)
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Q) If y 1s a function of x and log (x + y) = 2xy, then the value

of ¥ (0) 1s
(a) 1 (b) -1 (c) 2 (d) 0
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Q) If y 1s a function of x and log (x + y) = 2xy, then the value

of ¥ (0)1s
(a) 1 (b) -1 (c) 2 (d) 0

Ans: (a)
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Q)If x* + y¥* =1, then

@ yy' —2()° +1=0 b)) yy + (y) +1=0
© ¥y + (¥)?=1=0 d) yy’+ 2()*+1=0
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Q)If x> + y* =1, then

@ yy' —2()° +1=0 b)) yy + (y) +1=0
© ¥y + (¥)?=1=0 d) yy’+ 2()*+1=0

Ans: (d)
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Q) % [sin H(x41-x — @1/1— x?)]is equal to

(2) 1 B 1
2yx(1-x) /1- 2

(b) :
\/1—{xw/1—x —\/:!r:(l—xQ)}2

©) 1 1

1 — 22 B 2\/1:(1—3«:)
1

(d)
Jr(— x)(1- x)?

EEEEE
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Q) % [sin H(x41-x — x/;ﬂfl— x?)]is equal to

(2) 1 B 1
2yx(l-x) 142

(b) :
\/1—{xw/1—x —\/x(l—:x:Q)}2

©) 1 1

1 — 22 B 2\/.’)6(1—36)
1

(d)
Jr(— x)(1- x)?

Ans: (c)

EEEEE
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Q) What is the derivative of tanl{
1+x

1
(a) 1 (b) B

3
© 5 @ 1

Vx —x

3/2

JatX:l?



NDA 2 2024 - REVISION - MATHS - CLASS 11

Q) What is the derivative of tanl[ Vx ;2
1+Xx
1 .
@ 7 G
- d) 1
© 3 (d)

Ans: (a)

Jatle?
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EXAMS

Q)The derivative of y = @* °¢¢5* ig equal to
(a) logsinx+ xtanx (b) logsinx + xcotx
(¢) vy log (sin x e* ') (d) vy log(sinx e*™™")
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EXAMS

x log,sinx -

Q)The derivative of y = a 1s equal to

(a) logsinx+ xtanx (b) logsinx + xcotx
(¢) vy log (sin x e* ') (d) vy log(sinx e*™™")

Ans: (c)
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QWhat is the derivative of 2™ x)’
with respect to sin x?
(a) sin x 261 =" [ 4
b) 2sin x 26" =" [ 4

sin x)?

2

(
(c) In (sin x) 2
(d) 2 sin xcos x 2®" )

EXAMS
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o AP
Q)What is the derivative of 2™ %)
with respect to sin x?

(a) sin x 2(3‘” x)° /n 4

sin x)2

(
(c)In (sm x) 2
( 2

)

Ans: (a)
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Q) The derivative of In(x+ sin x) with respect to (x+ cos x) 1s

1+ cosx l1-cosx

(@) (x +sinx)(1 —sinx) () (x +smx)(1+smnx)
l—cosx 1+ cosx

(©) (x —smx)(1+cosx) (d) (x —sinXx)(1 —cosx)
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Q) The derivative of In(x+ sin x) with respect to (x+ cos x) 1s

1+ cosx l1-cosx

(@) (x +sinx)(1 —sinx) () (x +smx)(1+smnx)
l—cosx 1+ cosx

(©) (x —smx)(1+cosx) (d) (x —sinXx)(1 —cosx)

Ans: (a)
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cot! J1+sinX ++/1—sinx T
Q)Ify— m_m ,Where0 <x < E,thel’l

dy .
™ 1s equal to
1
@ 5 ©) 2

(¢) sinx+cosx (d) smx-—cosx
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cot! J1+sinX ++/1—sinx T
Q)Ify— m_m ,Where0 <x < E,thel’l

dy .
™ 1s equal to
1
@ 3 b) 2
(¢) sinx+cosx (d) smx-—cosx

Ans: (a)
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5—-2tanvx d
= -1 < 9
Q)Ify=tan (2 standx J , then what is . equal to*
: (b) 1
@ ~5 )

1
© -1 @ 57
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5—2tan\/;J

2+5tan\/§

dy
tl hat is — 1 to?
1en wnat 18 dX equa O

Q)Iify=tan! (

@ 3 ® 1

1
© -1 @ 7

Ans: (a)
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dZ
Q) Ify = sin (ax + b), then what is d—z at x = —
X

are constants and a = 0?

@ 0 (b) -1
(¢) sin(a-—Db) (d) sin(a+Db)

. where a, b
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d2

Q) Ify = sin (ax +b), then what is d—z at x = —
X
are constants and a = 07
@ 0 (b) -1
(¢) sin(a-b) (d) sin(a+b)

Ans: (a)

3 where a, b
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Q) Letg(x)=x>—4x+6.Iff'(x)=g'(x) and f{1) =2, then what is
f(x) equal to?
(a) x3—4x+3 (b) x3—4x+6
() x>—4x+1 (d) x>—4x+5



NDA 2 2024 - REVISION - MATHS - CLASS 11

Q) Letg(x)=x>—4x+6.Iff'(x)=g'(x) and f{1) =2, then what is
f(x) equal to?
(a) x3—4x+3 (b) x3—4x+6
() x>—4x+1 (d) x>—4x+5

Ans: (d)



NDA 2 2024 - REVISION - MATHS - CLASS 11

Q) Consider the following statements :

d
. Ify=/{n(secx +tanx), then ﬁ = SEC X.

dy

2. If y={n(cosec x—cot x), then — = cosec x.

dx
Which of the above 1s/are correct?
(@ 1only (b) 2only
(¢) Both1land2 (d) Neither 1 nor2
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Q) Consider the following statements :

d
. Ify=/{n(secx +tanx), then i = SEC X.

dy

2. If y={n(cosec x—cot x), then — = cosec x.

dx
Which of the above 1s/are correct?
(@ 1only (b) 2only
(¢) Both1land2 (d) Neither 1 nor2

Ans: (c)
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Q) Ifx™+ yM=1 such that

value of m ?
@ 0
© 2

dy _ x
Ix y > then what should be the

(b) 1
(d) None of the above
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Q) Ifx™+ yM=1 such that

value of m ?
@ 0
© 2

Ans: ()

dy _ x
Ix y > then what should be the

(b) 1
(d) None of the above
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d
Q) If y=x* what is d—i at x=1equal to ?

@) O b) 1
© -1 d) 2
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d
Q) If y=x* what is d—i at x=1equal to ?
@ 0 (b) 1
(c) -1 (d 2

Ans: (b)
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Q) What is the derivative of tan | [

|
(@) ~u (b)

© 5 (@

ol

1+x

L
2

1

312

JatX:l?
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EXAMS

. L " X —X
Q) What is the derivative of tan l[\/_ 3 /2}&){:1?

1+x
| |
() ~% (b) 5
3
(©) 5 @ 1

Ans: (a)
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2 d%x
Q)If y=f(x), p= j—z and q =i{—g, then what is dy_2 equal
to ?
_ 4 o _4
(@) 2 ) D3
1 Y
(€) q (d) D2
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Q)If y=1(x), p=1
X
to ?
_ 1
(@) 2
1
© =

Ans: (b)

dy

and q

2
d”y

dx?

(b)

(d)

then what 1s

p

q

p

2

3

d%x

dy

7 equal
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Q)If y=sin"!x +sin~! y1-X

|
1 112 (b T
@ cos  x+cos Al-x7 (0) cosx cos V] — x2

T
©) )

2 . dy
, What 15 — ?
x equal to *

1

d 0
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Q)If y=sin"lx +sin ! y1-X

|
1 112 (b T
@ cos  x+cos Al-x7 (0) cosx cos V] — x2

T
©) )

Ans: (d)

2 . dy
, What 15 — ?
x equal to *

1

d 0
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Q) If f(x) = \/x+ \/x + \/x-l— AJ... o ,then what is the value

of f/(x)?

1 1
@ o 0 -1
© — @) —

1+ 2f(x) 2+ f(x)
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Q) If f(x) = \/x+ \/x + \/x-l— AJ... o ,then what is the value

of f/(x)?
1 1

@ o 0 -1
] 1

© T2 D e

Ans: (a)
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Q)If y = tan_l(

(a) 2

acosx—bsinx

then
bcosx+a smx] ’

a
(b) -1 (©) »

dy

dx

1s equal to

@ 2
a
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Q)If y = tan_l(

(a) 2

Ans: (b)

acosx—bsinx

then
bcosx+a smx] ’

a
(b) -1 (©) »

dy

dx

1s equal to

@ 2
a
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Q)If f(x) = cot™ [xx ;x_x J ,then f’(1)1is equal to

(a) -1 b) 1
(c) log2 (d) —log2
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Q)If f(x) = cot™ [xx —2x"" J ,then f’(1)1is equal to

(a) -1 b) 1
(c) log2 (d) —log2

Ans: (a)
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Q)What is the derivative of sin_l{

cos L ?

J1+8
@) 1 () -1
(©) 2 (d) -2

l

Ji+2

] wrt
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EXAMS

Q)What is the derivative of sin_l{ : ] wrt

J1+ 2

cos ™ L ?

1+ ¢
(a) 1 (b) -1
(c) 2 (d) —2

Ans: (a)
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Q)If y = log,, x + log, 10 + log, x + log,,10 then what is

dy
dx e equal to?

(a) 10 (b) 2
(c) 1 (d) 0
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EEEEE

Q)If y = log,, x + log, 10 + log, x + log,,10 then what is

dy
dx e equal to?

(a) 10 (b) 2
(c) 1 (d) 0

Ans: (d)
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Q)If y = (cos x) x0T , then ? is equal to
%
(@) - y° tanx ) y° tanx
1— ylIn(cosx) 1+ yIn(cosx)
2 .
) Y tanzx (d) y°sinx

1 - ylIn(sinx) 1+ yIn(sinx)

EXAMS
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Q)If y = (cos x)** " then ? is equal to
X
(a) - y* tanx (b) y* tanx
1-yln(cosx) 1+ yIn(cosx)
2 .
1-yIn(sinx) 1+ yIn(sinx)

Ans: (a)

EXAMS
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Q) Consider the following statements :

1. Derivative of f(x)may not exist at some point.

2. Derivative of f(x)may exist finitely at some point.

3. Derivative of f(x)may be infinite (geometrically) at
some point.

Which of the above statements are correct?

(@) 1 and 2 only (b) 2 and 3 only
(c) 1 and 3 only (d)1,2and 3

EXAMS
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Q) Consider the following statements :

1. Derivative of f(x)may not exist at some point.
2. Derivative of f(x)may exist finitely at some point.
3. Derivative of f(x)may be infinite (geometrically) at

some point.
Which of the above statements are correct?
(@) 1 and 2 only (b) 2 and 3 only
(c) 1 and 3 only (d)1,2and 3

Ans: (d)

EXAMS
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Q) The set of all points, where the function f(x) = \/ 1—e™*

is differentiable, is
(@) (O, o) (b) (=e0,00)  (C) (=oo, 0) U (O, o) (d) (=1, o0)
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EEEEE

Q) The set of all points, where the function f(x) = \/ 1—e ™™

is differentiable, is
(@) (O, o) (b) (=e0,00)  (C) (=oo, 0) U (O, o) (d) (=1, o0)

Ans: (c)
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Q)If u=sin (x— y),x =3¢ y=4¢, then what is the
derivative of v wrt t?

1
(a) 3(1—1t%) (b) 3(1—1%) 2

1
©) 5(1—t%)2 @) 5(1— t?)



NDA 2 2024 - REVISION - MATHS - CLASS 11

EXAMS

Q)If u=sin (x— y),x =3¢ y=4¢, then what is the
derivative of u wrt t?

1
(a) 3(1—1t%) (b) 3(1—1%) 2
1
©) 5(1—t%)2 @) 5(1— t?)

Ans: (b)
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Q) What is the derivative of tan~! x with respect

to cot ™1 x?
(a) -1
(b) 1
1
(c)
x? + 1
(d) X

==
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E)]=]

EXAMS

Q) What is the derivative of tan~! x with respect

to cot™lx?
(a) -1
(b) 1
1

(c)

x? + 1
(d) X

x? + 1

Ans: (b)
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Q) If x% + y —t+% xt+ yt=t Jri then what is the
If
dy
dx

L
() 2 (b) —
1

value of —a® y =22

(c) 5 d) 1
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EXAMS

Q) If x* + y 244t xt+ oyt =t +i then what is the
t?

t
value of -’y dy —?
dx
1 1
(a) Z (b) E
1
(c) 5 d) 1

Ans: (d)
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Q) If fix) = &' and
(g0f)" (x)?
@ 0
(¢) e

MATHS - CLASS 11

g(x) = logx, then what 1s the value of

(b) 1
(d) None of these

EXAMS



NDA 2 2024 - REVISION - MATHS - CLASS 11

EXAMS

Q) If fix) = €' and g(x) = logy, then what 1s the value of

(807)’ (x)?
(@) 0 (b) 1
(¢) ¢ (d) None of these

Ans: (b)
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dZ
Q) Ify = sin (ax + b), then what is d—z at x = —
X

are constants and a = 0?

@ 0 (b) -1
(¢) sin(a-—Db) (d) sin(a+Db)

. where a, b
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d2

Q) Ify = sin (ax +b), then what is d—z at x = —
X
are constants and a = 07
@ 0 (b) -1
(¢) sin(a-b) (d) sin(a+b)

Ans: (a)

3 where a, b
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Q) Letg(x)=x>—4x+6.Iff'(x)=g'(x) and f{1) =2, then what is
f(x) equal to?
(a) x3—4x+3 (b) x3—4x+6
() x>—4x+1 (d) x>—4x+5
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Q) Letg(x)=x>—4x+6.Iff'(x)=g'(x) and f{1) =2, then what is
f(x) equal to?
(a) x3—4x+3 (b) x3—4x+6
() x>—4x+1 (d) x>—4x+5

Ans: (d)
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Q) Consider the following statements :

d
. Ify=/{n(secx +tanx), then ﬁ = SEC X.

dy

2. If y={n(cosec x—cot x), then — = cosec x.

dx
Which of the above 1s/are correct?
(@ 1only (b) 2only
(¢) Both1land2 (d) Neither 1 nor2
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Q) Consider the following statements :

d
. Ify=/{n(secx +tanx), then i = SEC X.

dy

2. If y={n(cosec x—cot x), then — = cosec x.

dx
Which of the above 1s/are correct?
(@ 1only (b) 2only
(¢) Both1land2 (d) Neither 1 nor2

Ans: (c)
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Q) Ifx™+ yM=1 such that

value of m ?
@ 0
© 2

dy _ x
Ix y > then what should be the

(b) 1
(d) None of the above
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Q) Ifx™+ yM=1 such that

value of m ?
@ 0
© 2

Ans: (c)

dy _ x
Ix y > then what should be the

(b) 1
(d) None of the above
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d
Q) If y=x* what is d—i at x=1equal to ?

@) O b) 1
© -1 d) 2
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d
Q) If y=x* what is d—i at x=1equal to ?
@ 0 (b) 1
© -1 d 2

Ans: (b)
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Q) What is the derivative of tan | [

|
(@) ~u (b)

© 5 (@

ol

1+x

L
2

1

312

JatX:l?
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. L " X —X
Q) What is the derivative of tan l[\/_ 3 /2}&){:1?

1+x
| |
() ~% (b) 5
3
(©) 5 @ 1

Ans: (a)
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2 d%x
Q)If y=f(x), p= j—z and q =i{—g, then what is dy_2 equal
to ?
_ 4 o _4
(@) 2 ) D3
1 Y
(€) q (d) D2
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Q)If y=1(x), p=1
X
to ?
_ 1
(@) 2
1
© =

Ans: (b)

dy

and q

2
d”y

dx?

(b)

(d)

then what 1s

p

q

p

2

3

d%x

dy

7 equal
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Q)If y=sin"!x +sin~! y1-X

|
1 112 (b T
@ cos  x+cos Al-x7 (0) cosx cos V] — x2

T
©) )

2 . dy
, What 15 — ?
x equal to *

1

d 0
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Q)If y=sin"lx +sin ! y1-X

|
1 112 (b T
@ cos  x+cos Al-x7 (0) cosx cos V] — x2

T
©) )

Ans: (d)

2 . dy
, What 15 — ?
x equal to *

1

d 0
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Q) If f(x) = \/x+ \jx + \/x-l— AJ... o ,then what is the value

of f/(x)?

1 1
@ o 0 -1
© — @) —

1+ 2f(x) 2+ f(x)
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Q) If f(x) = \/x+ \/x + \/x-l— AJ... o ,then what is the value

of f/(x)?
1 1

@ o 0 -1
] 1

© T2 D e

Ans: (a)
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Q)If y = tan_l(

(a) 2

acosx—bsinx

then
bcosx+a smx] ’

a
(b) -1 (©) »

dy

dx

1s equal to

@ 2
a
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Q)If y = tan_l(

(a) 2

Ans: (b)

acosx—bsinx

then
bcosx+a smx] ’

a
(b) -1 (©) »

dy

dx

1s equal to

@ 2
a
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Q)If f(x) = cot™ [xx ;x_x J ,then f’(1)1is equal to

(a) -1 b) 1
(c) log2 (d) —log2
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Q)If f(x) = cot™ [xx —2x"" J ,then f’(1)1is equal to

(a) -1 b) 1
(c) log2 (d) —log2

Ans: (a)
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Q)What is the derivative of sin_l{

cos L ?

J1+8
@) 1 () -1
(©) 2 (d) -2

l

fier

] wrt
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Q)What is the derivative of sin_l{ : ] wrt

J1+ 2

cos ™ L ?

1+ ¢
(a) 1 (b) -1
(c) 2 (d) —2

Ans: (a)
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Q)If y = log,, x + log, 10 + log, x + log,,10 then what is

dy
dx e equal to?

(a) 10 (b) 2
(c) 1 (d) 0
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Q)If y = log,, x + log, 10 + log, x + log,,10 then what is

dy
dx e equal to?

(a) 10 (b) 2
(c) 1 (d) 0

Ans: (d)
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Q)If y = (cos x) x0T , then ? is equal to
%
(@) - y° tanx ) y° tanx
1— ylIn(cosx) 1+ yIn(cosx)
2 .
) Y tanzx (d) y°sinx

1 - ylIn(sinx) 1+ yIn(sinx)

EXAMS
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Q)If y = (cos x)** " then ? is equal to
X
(a) - y* tanx (b) y* tanx
1-yln(cosx) 1+ yIn(cosx)
2 .
1-yIn(sinx) 1+ yIn(sinx)

Ans: (a)

EXAMS
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Q) Consider the following statements :

1. Derivative of f(x)may not exist at some point.

2. Derivative of f(x)may exist finitely at some point.

3. Derivative of f(x)may be infinite (geometrically) at
some point.

Which of the above statements are correct?

(@) 1 and 2 only (b) 2 and 3 only
(c) 1 and 3 only (d)1,2and 3

@i=]

EXAMS
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Q) Consider the following statements :

1. Derivative of f(x)may not exist at some point.
2. Derivative of f(x)may exist finitely at some point.
3. Derivative of f(x)may be infinite (geometrically) at

some point.
Which of the above statements are correct?
(@) 1 and 2 only (b) 2 and 3 only
(c) 1 and 3 only (d)1,2and 3

Ans: (d)

@i=]

EXAMS
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EEEEE

Q) The set of all points, where the function f(x) = \/ 1—e™*

is differentiable, is
(@) (O, o) (b) (=e0,00)  (C) (=oo, 0) U (O, o) (d) (=1, o0)
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Q) The set of all points, where the function f(x) = \/ 1—e ™™

is differentiable, is
(@) (O, o) (b) (=e0,00)  (C) (=oo, 0) U (O, o) (d) (=1, o0)

Ans: (c)
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Q)If u=sin (x— y),x =3¢ y=4¢, then what is the
derivative of v wrt t?

1
(a) 3(1—1t%) (b) 3(1—1%) 2

1
©) 5(1—t%)2 @) 5(1— t?)
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Q)If u=sin (x— y),x =3¢ y=4¢, then what is the
derivative of u wrt t?

1
(a) 3(1—1t%) (b) 3(1—1%) 2
1
©) 5(1—t%)2 @) 5(1— t?)

Ans: (b)
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Q) What is the derivative of tan~! x with respect

to cot ™1 x?
(a) -1
(b) 1
1
(c)
x? + 1
(d) X

@i=]
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@i=]

EXAMS

Q) What is the derivative of tan~! x with respect
to cot™lx ?

(a) -1
(b) 1
1
(c)
x2+1
(d) X
x2+1

Ans: (b)
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Q) If x% + y —t+% xt+ yt=t Jri then what is the
If
dy
dx

L
() 2 (b) —
1

value of —a® y =22

(c) 5 d) 1
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Q) If x* + y 244t xt+ oyt =t +i then what is the
t?

t
value of -’y dy —?
dx
1 1
(a) Z (b) E
1
(c) 2 (d) 1

Ans: (d)
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Q) If fix) = &' and
(g0f)" (x)?
@ 0
(¢) e
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g(x) = logx, then what 1s the value of

(b) 1
(d) None of these

XAMS
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EXAMS

Q) If fix) = €' and g(x) = logy, then what 1s the value of

(807)’ (x)?
(@) 0 (b) 1
(¢) ¢ (d) None of these

Ans: (b)
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0T e Integration
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